Sri Kavitha Educational Society's

KHAMMAM INSTITUTE OF TECHNOLOGY & SCIENCES



(Affiliated to JNTUH & Approved by AICTE, New Delhi)
Ponnekal (Village), Khammam (Rural), Khammam (Dist) -507170
Phone: 08742 – 285399, 9908567792

4.3.1 Institution frequently updates its IT facilities including Wi-Fi

There are different digital technological facilities available in the college. There are 02- smart classrooms, 01-smart lab and 01-digitally equipped conference hall. The up gradation work of another laboratory (ENGLISH LANGUAGE LABORATORY) is also updated infrastructure. A well equipped computer lab is also functioning in the college. The students of the college are access to the computer lab. The building and the MV building are facilitated with the Wi-Fi connectivity. There is open access of Wi-Fi connectivity to all student and the staff members of the college. All the departments of the college are provided with computer and other related accessories. All teaching staff member use the ICT in the classrooms and laboratories, whenever needed. The different educational sites are shown to the students with the help of digital device.

Most of the official work is being done with the help of ICT. The college regularly maintains the IT facilities. Following are some basic facilities for updating:

Computer is formatted in regular basis.

College itself formats the computer without no fees and by the help of computer operator. Anti-virus is regularly installed in computer. All computers has anti-virus

Wi-Fi connectivity is available as mentioned in 4.1.1, *i.e.*, in Principal chamber, Office-room, IQAC room, various departments including MBA, library and laboratories.

CCTV is installed in every Main corridor.

PRINCIPAL

KHAMMAM INSTITUTE OF TECHNOLOGY&SCIENC

Ponnekal (V), Khammam (R)-507 178

Khammam (Dist.) T.S.



KHAMMAM INSTITUTE OF TECHNOLOGY & SCIENCES

(Affiliated to JNTUH & Approved by AICTE, New Delhi)
Ponnekal (Village), Khammam (Rural), Khammam (Dist) -507170
Phone: 08742 – 285399, 9908567792

DECLARATION

Ref No: KITS / 2020/PO/008 Date: 22nd December, 2020

We, Sri Kavitha Educational Society, Khammam have placed order on M/S Vishal Peripherals Limited, Secunderabad (holding Registration Certificate No. CST/8604/PRC dated 23.02.1995 under the CST Act, 1956) vide our Purchase Order No. Nil dated: 22nd December, 2020.

We declare that:

- 1. These items being purchased by us are for our own use, not for further sale.
- 2. We are not registered with Sales Tax authorities under CST Act, 1956.
- 3. Being a non-government entity, We are not eligible to issue Form D.
- 4. Our Nature of business is (tick whichever is applicable):
 - a) Banking

Place: Khammam

Date: 22.12.2020

- b) Insurance Organisation
- c) Financial Institution
- d) Chit Fund / Leasing Company
- e) Educational Institution
- f) Hospital / Medical Institution
- g) Transport / Travel Agency
- h) Government Undertaking / Board
- i) Autonomous Body
- j) Municipal Corporation
- k) NGO / Charitable Trust
- 1) International Organisation (e.g. UNICEF, IMF, World Bank etc.)
- m) Software Training Institute

[K APPI REDDY]

Secretary & Correspondent
Sri Kavitha Educational society's
Khammam institute of technology & sciences

Ref. No Date: 22nd December ,2020

To

M/S Vishal Pheripherals Limited.

Secunderabad.

Purchase Order

Dear Sir,

Sub:- Purchase order for supply of (100) Zebronics-Assembeled Computers- Reg:-

		Vishal Periphe		
Sl.	Key Configuration	Price	Qty	Amount
No.				
1	Intel(R) core(TM) i3- 3220CPU@3.30GHz 2GB RAM Board/Optical Mouse /3 years onsite warranty	Rs.18,500.00	100	Rs.18,50,000.00

Rs. 18,50,000.00

Terms & Conditions:-

- 1)Prices quoted are inclusive of all taxes against Declaration Form.
- 2) Payment :: 25%(D.D against Delivery and balance after installation).
- 3) Delivery: 2-3 Weeks from the date of Purchase Order.
- 4) Order should be given on "Vishal Peripherals Limited, Secundrabad".
- 5) Validity: 10 days from date of Quotation.

with regards,

For Sri Kavitha Educational Society.

(K APPI REDDY)
Secretary & Correspondent
Sri Kavitha Educational Society

PRINCIPAL
KHAMMAM INSTITUTE OF TECHNOLOGY&SCIENCE
Ponnekal (V), Khammam (R), 507 170
Khammam (Dist.) T.S.

219. Block-A, Second Floor, Chenoy Trade Centre, Parklane, Secunderabad, Telangana - 500 003. Phone No. 66382291/2314, 66385786, 66904733

36AFHPM1954P1ZV

TAX INVOICE

Original for Receipient Duplicate for Supplier/Transporter Triplicate for Supplier

voice No: ATE :

Payment Terms

TIN

HG-34128

30-12-2020

Bank Name

Cheque No.

Cheque Date

BILLING ADDRESS :

KHAMMAM INSTITUTE OF TECH & SCINCES KHAMMAM

Contact No 9948224788

GSTIN :

State

TELANGANA

State Code

36

SHIPPING ADDRESS:

KHAMMAM INSTITUTE OF TECH & SCINCES

KHAMMAM

Contact No.

GSTIN

State Name

TELANGANA

State Code:

36

S.No	Description	HSN/SAC Code	Qty	Rate	Taxable Value	CGST %	SGST %	IGST %
2	MBD NANOTEK H61 (1YR)	8473	100	2,644.07	264406.78	9	9	
3	FAN CPU ZEBRONICS	8473	100	169.49	16949.16	9	9	
4	RAM 2 GB DDR3 EVM 1600	8473	150	381.36	57203.38	9	9	
5	MOUSE DELL USB (MS116)	8471	100	190.68	19067.80	9	9	
6	PATCH CORD 1 MTR CAT-6 HONEYWELL BLUE	8544	50	101.69	5084.74	9	9	
7	PATCH CORD 1 MTR CAT-6 HONEYWELL GREY	8544	200	101.69	20338.98	9	9	
8	PATCH CORD 1 MTR CAT-6 HONEYWELL ORANGE	8544	50	101.69	5084.74	9	9	
9	BATTERY CMOS 8507	8507	300	8.47	2542.38	9	9	
		8538	1	3,220.34	3220.34	9	9	
10	RACK DLINK SWITCH 24 PORT DLINK GIGABYTE	8517	5	4,110.17	20550.84	9	9	
11	Closing Balance		1156		524618.64			

/We have purchased only computer parts & components

Hard Disk purchased is blank unformatted

Signature of Customer

SIX LAKH THIRTY TWO THOUSAND THREE HUNDRED

ONLY

Taxable Value

5,35,847.44

CGST SGST 48,226.28 48,226.28

TCS

IGST

Total Amount after TCS

Total Amount:

6,32,300.00

6,32,300.00

TERMS AND CONDITIONS:

Rupees :

REMARKS:

01. Manufacturers policies for warranty repairs/replacement only if parts are in good physical condition. Products with btoken/burn, pin bends, pen/pencil marks, cracks, missing/tampered components & tampered warranty stickers

will be rejected and considered warranty void 02. Customers understand, accept & agree that the warranties, in respect of equipments supplied here under is given by the

manufacturer & thereof & Vishal Peripherals shall not be held liable/responsible in any matter whatsoever inrespect thereof. 03. Goods once sold cannot be taken back 04. No warranty for adaptors, cables, batteries, headphone / earphones, other accessories & consumable products

05 NO WARRANTY FOR BURN / PHYSICAL DAMAGE

06. Bank Charges @1% of cheque amount if cheque returns. In case of default interest shall be charged @24% p.a from bill date 07. Payment should be sent through A/c Payee Cheque or demand draft payable at Secunderabad.

08. In case of dispute, only Secunderabad court jurisdiction 09 WARRANTY ON ALL EQUIPMENT OR PARTS IS AS MANUFACTURERS STANADARD AND SHALL BE DIRECTLY PROVIDED BY THE MANUFACTURERS.

Bank Account Details: Bank Name: HDFC BANK LIMITED IFEC / RTGS/NEFT Code: HDFC0000696 MICR: 500240017

Account No.: 50200046808261 Branch: Petbasheerbad

Vishal Peripherals For

Authorised Signatory